_, Quick Review 1.6
I

1 Solve each of the bfollowing equations:

1
(a) logp x=3 (c) logy x= >
(b) log_l__ x=-2 (d) log1 x>:__%—

Solve each of the following equations: -
(a) 3log,, x> ~2log, Vx—3log  x=4
(b) 2log,, x—log 10=1

(c) log(x+ 1) +log x=log 12

(d) log,, (36x* + 25) =log,, x* + 2

Solve each of the following simultaneous
equations:
- (a) log, #*y=3
(10g4 x) (log4 »=1
(b) log, X’y =4
(log, x)(log, ¥) = 1
(c) log, xy=2 .
(logg x)(log, y) =1
(d) log, (xy) =-3 )
(logg x)(logy y) = >

4 Solve each of the following equations:

(a) 25x—1 = 3%

(b) 3(2%) =5—-2%+2
(c) 5(2%) =3 —-2%+2
(d) 5%+ 4(5%*1) = 63

Solve each of the following equations:
(a) 22+ 3(2%) = 18

(b) (2%2-8(2) +15=0
(c).3%*~3**2_22=0

(d) 2(9%) +3*~ 1 + 4 =2(3x+])

Solve each of the following equations:
(a) 2% 6x—2‘ 7%—1 = 52x
(b) 3(4) =3**7
(293 =2
(c) 25 +3(3) =19
5(5%)~7(3") =4
(d) 2% grt+l
3*-2=97
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Solve each of the following equations:
(a) 2*+ 122 =7

(b) 16(2%) ~15(2%) =1

() 9(3%)-3*+8=0

(d) 229 +2(2™) =5

Solve each of the following equations:

(a) log zi—; =log(x~—1)
(b) log (> —x~2) =log (x+ 1) + log 2
(2-3)

(c) logm=0
(d) logx+log(9—x)=log5+210g2

Solve each of the following equations:
(a) 10(x?1oB10%) = 43

(b) 10(x>loB10%) = x4

(c) x?logx=10x

(d) xlox = gx2

Solve each of the following equations:
(a) log 143 —log x = log y

log(x + ) —log(x~y) =log 12
(b) y loggx — 10

2log, x~log,, y=1

Solve each of the following inequalities:
(a) log, (x+4) > log, («*-2)

- (b) log,, (x+4) > log,, (x*—2)
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Solve each of the following inequalities:
(a) 2%-502%)+4>0
(b) 25+ 122 -7 < 0

Solve each of the following inequalities:

(a) (0.3)x2+5x— 24~ (0_3)3x

~(b) (0.5)7-25-2 < (0.5)6

Solve each of the following equations:
(a) 3logy x—log 64+1=0
(b) log,, (x+7) + log,, B3x+1) =2
(c) log, () =-3

(logy x) (log, y) = >

(d) 2x+y=10,22-3% =4

=4 CHAPTER




